Opérations avec deux fractions mixtes (D)

Nom: Date: Note:

Calculez chaque résultat.

1 5%+1§ =
2 5;—41%—
3 5%+3g =
4 5%—3— =
5 5§+1% =
6 21—2+5§=
7 5§><11—11=
8 5%)(1% =
9 1%x5§ =
10 5%—1% =
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Opérations avec deux fractions mixtes (D) Réponses

Nom:

—

w

o

10.

Date: Note:
Calculez chaque résultat.
52+13 _22+12 B 198+48 246 41 65
4 "9 4 9 36 36 36 6 6
59_4§_ﬂ_2_656_504_ 152 _ 19 _13
7 16 7 16 112 112 112 14 14
5g+3§ _g+§_198+1z4_322_£_8£
4 79 4 9 T 36 36 36 18 ~ 18
sl_j3 2130 189 120 _ 69 _ 23 _ 11
9 4 9 36 36 36 12 12
3,,2 _ 28,8 _ 168 40 _ 208 _ 104 _ 14
5 6 5 6 30 30 30 15 15
3.5 #3543 6 258 86
15 6 15 6 15735 ~ 525 175
1 17 12 204 68 2
BXITTF3X T 03 T T
1 4 36 12 432 54 5
Xy =Xy T 5% T 7T
1 4 4 39 156 52 3
I3X57 = 3% o1 7 =7
2_q12 - 17_6 68 18 N _ 32 1
3 4 3 4 12 12 12 6 6

MathsLibres.com




